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# H SN ES 0.3 ha ha |/K#E. B 3.7 ha ha | BN EEY
ﬁﬁ:’\% S 2.7 ha ha |7K#E. B3 3.8 ha ha [RlIfRD EEY
ﬁﬁ)ﬁ 7K 26.1 ha ha |/K#iE 26.5 ha ha |FI#ED EBY
RE 0 ha ha [7K#E. X 2 ha ha [BI#DLEY
E s 0.1 ha ha [#FX 02 ha ha [BI#DEEY
e KR 0.1 ha ha [’K#g 0.1 ha ha [BIfEDEEY
FIRE R ENEES 0.9 ha ha |7K#E. B3 0.9 ha ha [RlIfRD EEY
§|J§ 7K 0.6 ha ha [K i 0.6 ha ha [RlIfED&ESY
RE | HX 0.8 ha ha |FF& 0.8 ha ha [BIED EHY
e IS TNEES 06 ha ha [7K#E. HE 06 ha ha |BIfEDEEHY
ﬁﬁ)ﬁ 7K 3.1 ha ha |K#id 3.1 ha ha |FI#ED EBY
el ERi 6.3 ha ha | /K 6.3 ha ha [RIED EEY
2E K#E. H& | 03 ha ha [’Kie. B | 03 ha ha |BIEDEHY
e IS TNEES 1.8 ha ha [7K#E. HE 1.8 ha ha |BIfEDEEHY
ﬁﬁ% 7K 0.0 ha ha |K#iE 0.0 ha ha |FI#ED EBY
el R 2.1 ha ha | /K 2.1 ha ha [RIED EEY
2E KiE. BH& | 05 ha ha [’Kie. B | 05 ha ha |BIEDEHY
=RE | K7 1.9 ha ha |7K7 1.9 ha ha [BIEDERY
] BX 0.1 ha EES 0.1 ha ha [BIEDEFY
el R 0.4 ha ha | /K 0.4 ha ha [RIED EEY
e ER{ 0.2 ha ha [/K#& 0.2 ha ha |BIfEDEEY
*'_JFH% K#E. BFx 0.1 ha ha |7K#E. B 0.1 ha ha [RIfRDEEY
e [ES 0.3 ha ha |EF3 0.3 ha ha [BlIfRDEEY
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